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MISSING DATA
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(data and information,
and problem to be solved)

conceptual model
(perception/expectation of

system structure
and processes)
Use data to build
calibrate model
(compare model output
with observations)

Data
Use model to guide
data collection

(observation locations,
sampling frequency, etc.)

Predictions (model output)

{model output reliability.
solution to problem)




Deep Neural Network

\\; DEEP LEARNING

Output Layer
Input Layer

Hidden Layer 1 Hidden Layer 2 Hidden Layer 3

combinations of edges object models
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3. Breaking Amount >>> Minimize injury

4. Waiting Time >>> Drive Time + Injury Risk







® Predictive

(f ® Real Estate Valuation and Brokerage
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